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Purpose: General amplifier.

1% BE@;&/Absolute maximum ratings(Ta=25°C)

T0-92

P < mm

SR HH LiES
Symbol Rating Unit
Vo —60 V
Vero -40 V
Viro 5.0 V
Ic -600 mA
Pc 625 mW |
T; 150 T -
Teus ~55~150 C AL
51:1.E 2.B 3.C
ﬁiﬁfﬁ%%?éﬁ/Electrical characteristics (Ta=25C)
HH
SR MRS AT Rating LiES
Symbol Test condition f/ME | # g | BR E | Unit
Min Typ Max
Vero I=-10p A 1.=0 -60 V
Vero 1=—10mA 1;=0 —-40 V
Vizo I=10p A 1=0 -5.0 V
Lo Va=—b0V 1:=0 -0. 02 uA
hes Va=—10V I[=—150mA 100 300
hee V=10V I[=—500mA 30
heg ) V=—10V I=—10mA 75
iz ) Ve=—10V I=—1. OmA 50
iz s) Ve=—10V I1==0. ImA 35
Ve an ) I1=—150mA I;=—15mA -0.4 V
Veban @ 1=—500mA I;=—50mA -1.6 V
Vg sat) 1) I1=—150mA I;=—15mA -1.3 V
Vg san) @ 1=—500mA I;=—50mA -2.6 V
fr Ve=—20V  1=-50mA f=100MHz 200 MHz
Cop V=—10V  1;=0 f=1. OMHz 8.0 pF
Ton Vee=30V  I=—150mA I;=—15mA 0. 045 s
Totr Veee=6. 0V  I=-150mA I;=Ip=—15mA 0.1 bs
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